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Which of the following organisation is mainly related with AIDS?

(1) NACO (2) DOTS (3) RCH (4) WHO

Which is not a type of agriculture?

(I)Agro chemical based agriculture

(2)Organic agriculture

(3)Genetically engineered crop based agriculture

(4)All of the above are types of agriculture

In which of the following techniques, photographic film is used?

(1)PCR (2)Autoradiography  (3)ELISA (4)Electrophoresis
ELISA is based on the principle of

(I)Antigen-Antibody reaction (2)Antigen-Antigen interaction
(3)Antibody-Antibody interaction (4)All of the above

The milk produced by rosie contained

(I)Alpha-1-antitrypsin (2)Beta-1-antitrypsin

(3)Human alpha lactalbumin (4)Human beta lactalbumin

For gene therapy we use

(1)Cosmid vector (2)Agrobacterium vector
(8)Retroviral vector (4)Gene gun

cDNA is

(I)recombinant DNA (2)circular DNA

(3)cloned DNA (4)formed by reverse transcriptase
For the treatment of _____ the first clinical gene therapy was done

(1) Cancer (2) Tuberculosis

(3) SCID with ADA defeciency (4) HIV/AIDS

Meloidogne incognita which causes infection in roots of tobacco plant belongs to
(1) Platyhelminthes  (2) Platyhelminthes  (3)Annelida (4) Aschelminthes
ADA deficiency causes

(I)Inhibition of lymphocytes maturation
(2)Inhibition of leucocytes maturation
(3)Accumulation of gangliosides in WBC
(4)Reduction in the number of RBCs
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